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Laura	has	8	marbles.	Dennis	gives	Laura	3
more.	How	many	marbles	does	Laura	have	in
all?

Answer:

Jesse	has	7	candies.	Ernest	gives	Jesse	7
more.	How	many	candies	does	Jesse	have	in
all?

Answer:

Beverly	has	6	oranges.	Antonio	has	3
oranges.	If	Antonio	gives	all	of	his
oranges	to	Beverly,	how	many	oranges	will
Beverly	have?

Answer:

Walter	has	2	blocks.	Kathryn	has	9	blocks.
If	Kathryn	gives	all	of	her	blocks	to
Walter,	how	many	blocks	will	Walter	have?

Answer:

If	there	are	4	crayons	in	a	box	and	Albert
puts	9	more	crayons	inside,	how	many
crayons	are	in	the	box?

Answer:
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Laura	has	8	marbles.	Dennis	gives	Laura	3
more.	How	many	marbles	does	Laura	have	in
all?

Answer:

8	marbles	+	3	marbles	=	11	marbles

Jesse	has	7	candies.	Ernest	gives	Jesse	7
more.	How	many	candies	does	Jesse	have	in
all?

Answer:

7	candies	+	7	candies	=	14	candies

Beverly	has	6	oranges.	Antonio	has	3
oranges.	If	Antonio	gives	all	of	his
oranges	to	Beverly,	how	many	oranges	will
Beverly	have?

Answer:

6	oranges	+	3	oranges	=	9	oranges

Walter	has	2	blocks.	Kathryn	has	9	blocks.
If	Kathryn	gives	all	of	her	blocks	to
Walter,	how	many	blocks	will	Walter	have?

Answer:

2	blocks	+	9	blocks	=	11	blocks

If	there	are	4	crayons	in	a	box	and	Albert
puts	9	more	crayons	inside,	how	many
crayons	are	in	the	box?

Answer:

4	crayons	+	9	crayons	=	13	crayons


